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Ex/Phil/UG/3.3/24/2018

BACHELOR OF ARTS EXAMINATION, 2018

(2nd Year, 3rd Semester)

PHILOSOPHY

[Ethics (Western)]

Full Marks : 30 Time : Two Hours

The figures in the margin indicate full marks.

Use a separate Answer-Script for each group.

Group - A / øıˆ¬±· - fl¬

1. How does Immanuel Kant distinguish between hypothetical
imperatives and categorical imperatives ? Explain the nature
of the categorical imperative as the supreme principle of
morality. 4+6

˝◊˜±Ú≈À˚˛˘ fl¬±KÈ¬ fl¬œı˛+À¬Û ˙Ó«¬±ÒœÚ ’Ú≈:± ¤ı— øÚ–˙Ó«¬ ’Ú≈:±ı˛ ˜ÀÒ…

¬Û±Ô«fl¬… fl¬Àı˛Ú ∑ ΔÚøÓ¬fl¬Ó¬±ı˛ ¸Àı«±B‰¬ ÚœøÓ¬ı˛+À¬Û øÚ–˙Ó«¬ ’Ú≈:±ı˛ ¶§ı˛+¬Û

ı…±‡…± fl¬ı˛º 4+6

Or / ’Ôı±
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2. What, according to Aristotle, is moral virtue ? What is the
relation between virtue and endaimonia ? Explain. 4+6

’…±øı˛à¬È¬À˘ı˛ ˜ÀÓ¬ ΔÚøÓ¬fl¬ ¸ƒ&Ì fl¬œ ∑ ¸&Ì ¤ı— ˝◊Î¬◊øÎ¬˜øÚ˚˛±íı˛

¸•§g¬ fl¬œ ∑ ı…±‡…± fl¬ı˛º 4+6

Answer within 200 words.

’ÚøÒfl¬ 200 ˙Às Î¬◊Mı˛ ±›º

3. Give a brief account of the naturalistic fallacy. 5

√õ∂fl‘¬øÓ¬˜”˘fl¬ Œ±À¯∏ı˛ ¸—øé¬l ’±À˘±‰¬Ú± fl¬ı˛º 5

Or / ’Ôı±

4. Among the three theories of punishment, which one is
acceptable to you ? Give your own arguments. 5

˙±øô¶∏˜”˘fl¬ øÓ¬ÚøÈ¬ Ó¬ÀMWı˛ ˜ÀÒ… ŒÓ¬±˜±ı˛ fl¬±ÀÂ Œfl¬±ÚøÈ¬ ·Ë˝ÌÀ˚±·… ∑

øÚÀÊı˛ ˚≈øMê ±›º 5

Group - B / øıˆ¬±· - ‡

5. Why does Mill think that a single general principle is required
to decide moral goodness ? 10
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ø˜˘ Œfl¬Ú ˜ÀÚ fl¬Àı˛Ú Œ˚, ΔÚøÓ¬fl¬ ˆ¬±À˘±Q øÚÒ«±ı˛ÀÌı˛ ÊÚ… ¤fl¬øÈ¬

¤fl¬fl¬ ¸±øı«fl¬ ÚœøÓ¬ı˛ √õ∂À˚˛±ÊÚ ∑ 10

Or / ’Ôı±

6. Why do we produce general happiness through
self-sacrifice ? Discuss critically Mill’s view. 10

Œfl¬Ú ’±˜ı˛± ’±RÓ¬…±À·ı˛ ˜±Ò…À˜ ¸±øı«fl¬ ¸≈‡ Î¬◊»¬Û±Ú fl¬øı˛ ∑ ø˜À˘ı˛

˜Ó¬ ¸øı‰¬±ı˛ ’±À˘±‰¬Ú± fl¬ı˛º 10

Answer within 200 words.

’ÚøÒfl¬ 200 ˙Às Î¬◊Mı˛ ±›º

7. What kind of people will desire the qualitatively higher
pleasure, even if that is lesser in quantity ? Discuss after Mill.

5

Œfl¬±Ú √õ∂fl¬±Àı˛ı˛ ı…øMê ¬Ûøı˛˜±Ì·Ó¬ˆ¬±Àı Ú”…Ú ˝À˘›, &Ì·Ó¬ˆ¬±Àı

Î¬◊»fl‘¬©Ü ¸≈‡ fl¬±˜Ú± fl¬ı˛Àı ∑ ø˜˘Àfl¬ ’Ú≈¸ı˛Ì fl¬Àı˛ ’±À˘±‰¬Ú± fl¬ı˛º

5

Or / ’Ôı±
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8. Is it impossible to be fully satisfied in life ? Answer following
Mill. 5

ÊœıÀÚ ¸•Û”Ì«ı˛+À¬Û Ó‘¬l ˝›˚˛± øfl¬ ’¸y¬ı ∑ ø˜˘Àfl¬ ’Ú≈¸ı˛Ì fl¬Àı˛

Î¬◊Mı˛ ±›º 5

—————
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